
Tim has $1 000.
He buys a camera that cost $410.
How much money does Tim have left?

Question 1

In a crowd of 1000 people there are 672 children.
If the rest are adults, then how many adults in the crowd?

Question 2

There were 1000 tickets available for a stage show.
538 tickets have been sold.
How many tickets are still available?

Question 3

To reach his yearly sales target Andrew needs to sell 1000 cars.
So far he's sold 556 cars.
How many more cars does Andrew need to sell to reach his target?

Question 4

1000 cars were washed on Tuesday.
242 were washed in the morning and the rest in the afternoon.
How many cars were washed in the afternoon?

Question 5

Andrew needs to peel 1000 potatoes.
After peeling 146 potatoes, how many are left to peel?

Question 6

A sailor has completed 967 km of a 1000 km trip.
What distance does the sailor still need to travel?

Question 7

The total weight of two crates is 1000 kg.
If one crate weighs 852 kg, how much does the other crate weigh?

Question 8

There are 1000 balls in total in 2 boxes.
If one box has 387 balls, how many balls in the other box?

Question 9

There are 1000 students at Kent School.
626 are girls.
How many boys at Kent School?

Question 10

Subtracting from 1000

Name:

© Studyladder


